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1 (fgArea = NA)

| |
8000 - —@— ECI*10%
—0— ECO
7000
6000 K.
5000 l \
4000 A ° n
3000 ® :
|
|
2000
1
1
T T T L
0 10 20 30 40 50 60 70



—@— PHI*10%

7.5 4 ~®— PHO

7.0
6.5
6.0

5.9

70

60

50

40

30

20

10



Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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P3-6

BfiE) | GEBATK (RY) | EHRE (EAH/K) | ERERE (B/R) | XS ERE

06:00 278 150.0 2. 583 5| FEAC06:00 KENFEFE (RAMEEE)
06:35 278 150.0 2.583 5| FHAe06:35 RENFEF (RATEREE)
07:30 278 150.0 2.583 5| FHAQ07:30 KENFEF (CGRAfEEEE)
08:30 278 150.0 2.583 | FiHfe08:30 KEFEF (KRFERES)
09:15 278 150.0 2.583 5| FEAe09:15 KEFEF (CRAHEESE)
09:55 278 150.0 2.583 5| FHA@09:55 KENFEF (RAfEEIEE)
10:30 278 150.0 2.583 5| FHEA@10:30 KENFEF (GRAIERENEE)
11:00 278 150.0 2.583 5| FEAe11:00 KEIEFE CGRAMFESE)
11:30 278 150. 0 2.583 E|  FaHA@11:30 KEFEF (REBERE)
12:00 278 150.0 2.583 | FiHfe12:00 KEIFEF (REAERS)
12:30 278 150.0 2. 583 5| FHAe12:30 KEIEFE CGRAFESE)
13:00 278 150. 0 2.583 E(  FiHRe13:00 KREFEF CGRAERE)
13:30 278 150.0 2.583 5| FHEAe13:30 KEEF (KAERESE)
14:00 278 150.0 2. 583 5| FEAe14:00 KEIEFE CGRAMFESE)
14:30 278 150.0 2.583 5| FHA@14:30 KENFEF CGRAMEEEE)
15:00 278 150.0 2.583 | FiHfe15:00 KEIEF (REERES)
15:35 278 150.0 2. 583 5| FHAe15:35 KEIEFE CGRAMHESE)
16:10 278 150.0 2.583 5| FHEAe16:10 REEF (RAEES)
16:50 278 150.0 2.583 5| FHA@16:50 KENFEF (GRAfEEEE)
24t 5282.0 (190%) 2850.0 3Z i KEC: 2080.0, PH: 6.0

#H[EKECE (1887.0 vs 3513.0) i d5




FRV (ml plant-1)

ET (ml/hr/plant)

P3-6_0, Day=73 (2025-06-10)
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P3-6

BYiE) | EBAK (R | EHE (EAR/HK) | ERERE (B/R) | XK R

05:40 278 150.0 2.583 FH| 1BRi&@05:40 B3zh (RFAEEE)
06:25 278 150.0 2.583 FA| 1B2i%@06:25 Bzh (kAB{ERESE)
07:10 278 150.0 2.583 |Z=| {Ri&e07:10 Bzl (REEZERE)
08:50 278 150.0 2.583 |Z=| {Ri%e08:50 B (KREAEZHE)
10:15 278 150.0 2.583 |Z=| {Ri&e10:15 Bz (REEZEBE)
11:05 278 150. 0 2.583 (&=| 1Ri%e11:05 Bz (REAEDSE)
11:55 278 150.0 2.583 (£=| {Rige11:55 Bz (REAEDSE)
12:50 278 150. 0 2.583 |Z=| {Ri&e12:50 B (REEZEBE)
13:35 278 150.0 2.583 [/hfu| {Ri&e13:35 Bz (REEZEBE)
14:05 278 150.0 2.583 FA| 1BRi%@14:05 B3h (KRAHERSE)
14:35 278 150. 0 2.583 FA| 1B2i%@14:35 B3h (kAEREE)
15:15 278 150. 0 2.583 |Z=| BRige15:15 Bz (GRAERESE)
16:25 278 150.0 2.583 (Z=| {Ri%e16:25 Bz (FRAEHSE)
17:30 278 150. 0 2.583 (Z=| 1Ri%e17:30 B3 (RAERSE)
2it]3892.0 (14)%) 2100.0 3EHKEC: 2080.0, PH: 6.0

large discrepency for begining water status (353:156.0), set to 353 ml.
FEIKRECE (1897.0 vs 3593.0)53 5
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P3-6_0, Day=72 (2025-06-09)
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P3-6

BfE) | GEBAK @) | ERE(EH/R | EREE (F/R) [ XS R

06:40 278 150.0 2.583 E BRi%e06:40 BE1 (GRAERE)
07:10 278 150.0 2.583 = {Rig@07:10 B3 (RAERSE)
07:40 278 150.0 2.583 5| {Ri1Re07:40 BHzh (GRAERESE)
08:10 278 150.0 2.583 5| {Ri%e08:10 Bz (FAAERSE)
08:40 278 150.0 2.583 | 1Ri%e08:40 B (RFfRREEE)
09:15 278 150. 0 2.583 E BRi&e09:15 Bzl (RAEREE)
09:50 278 150.0 2.583 5| {Ri%@09:50 B3 (FAERSE)
10:20 278 150.0 2.583 =l RRi8010:20 B (RFAEEE)
10:55 278 150.0 2.583 = {RRiB010:55 Bz (REAEEE)
11:25 278 150. 0 2.583 =l Rige11:25 Bz (REAEESE)
11:55 278 150.0 2.583 =l {Rige11:55 B3 (RAERSE)
12:25 278 150.0 2.583 Sl {Rige12:25 B (REAERSE)
12:55 278 150. 0 2.583 E| {Rige12:55 Bzh (RE{ERSE)
13:25 278 150.0 2.583 F BRige13:25 Ba CGRAERSE)
13:55 278 150.0 2.583 S| {Ri%@13:55 B3 (RAERSE)
14:25 278 150. 0 2.583 E BRige14:25 Bz (GRAERESE)
14:55 278 150.0 2.583 F BRige14:55 Bz CGRAERE)
15:25 278 150.0 2.583 = {Rige15:25 B3 (RAERSE)
15:55 278 150. 0 2.583 E BRi&e15:55 Bz (GRAERERE)
16:25 278 150.0 2.583 S| {Ri%e16:25 Bz (GRAERSE)
16:55 278 150.0 2.583 = {Rig016:55 B (RAERSE)
17:35 278 150. 0 2.583 F BRi&e17:35 Bz (GRAERESE)
2it] 6116.0 (22)%) 3300. 0 3203 KEC: 2080.0, PH: 5.9

large discrepency for begining water status (439:141.0), set to 439 ml.
[E]/&EC 5260.0 K&, EiUAKECHAIMIAER
BEEIRECE (1927.0 vs 5260.0) i 5
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Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-6

BfiE) | GEBAK (R | EHME (EHRH/HK) | ERERE (/R | XK R

06:35 273 150.0 2.583 = {RRiB006:35 B (FRFAEEE)
07:05 273 150.0 2.583 = {RRiB007:05 Bzh (REAKEE)
07:35 273 150. 0 2.583 F|  {Ri&@07:35 Hah (RF{ESE
08:10 273 150.0 2.583 F[ BRi%e08:10 Bzl (RAERSE)
08:50 273 150.0 2.583 5| {Ri%@08:50 Bz (KRAAMERSE)
09:25 273 150. 0 2.583 E BRi&e09:25 BE1 (RAERERE)
10:00 273 150.0 2.583 F[ BRi%e10:00 Bz (GRAERSE)
10:30 273 150.0 2.583 =l {Ri%@10:30 B3 (RAERSE)
11:00 273 150. 0 2.583 E BRige11:00 Bz (GRAERESE)
11:30 273 150. 0 2.583 E| {Rige11:30 Bzh (RE{EREE)
12:00 273 150.0 2.583 =l RRiB012:00 Bz (REAKEE)
12:30 273 150. 0 2.583 E BRige12:30 Bz (GRAERESE)
13:00 273 150.0 2.583 5| {Ri%e13:00 B3 (RAERSE)
13:30 273 150.0 2.583 5| {Ri&e13:30 B3 (REAERS)
14:00 273 150. 0 2.583 E BRige14:00 Bz (GRAERESE)
14:30 273 150.0 2.583 5| {Ri%e14:30 B3 (GRAERSE)
15:00 273 150.0 2.583 =l RRiB@15:00 B (RFAEESE)
15:30 273 150.0 2.583 = RRiB015:30 Bz (REAKEE)
16:00 273 150. 0 2.583 El BRi&e16:00 Bz (GGRAEREE)
16:30 273 150.0 2.583 F[ BRige16:30 Bz (GRAERSE)
17:00 273 150.0 2.583 S| {Rige17:00 B3 (RAERSE)
=23t]5733.0 (21%) 3150.0 3203 KEC: 2080.0, PH: 5.8

large discrepency for begining water status (351:144.0), set to 351 ml.

[ /&EC 6912.0 K&, EIUAKECAAIMIAER
#EEIRECE (1877.0 vs 6912.0) 537




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-6_0, Day=70 (2025-06-07)
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P3-6 BriE) | GEBAK () | ERE(EH/R) | EREE (/R [ XS R

06:05 273 150.0 2.583 5| {Ri%@06:05 Bz (FAAERSE)
06:35 273 150.0 2.583 = {RRiB006:35 B (FRFAEEE)
07:10 273 150.0 2.583 = RRiB007:10 Bzh (RAEEE)
07:50 273 150. 0 2.583 F|  {Ri%@07:50 Bah (RF{ESE

08:25 273 150.0 2.583 F  BRi%e08:25 B (RAERSE)
08:55 273 150.0 2.583 5| {Ri%@08:55 Bz (KRFAMERSE)
09:30 273 150. 0 2.583 E BRi%@09:30 BE1 (RAERRE)
10:00 273 150.0 2.583 5| 1Ri%@10:00 B3 (KREAEES)
10:30 273 150.0 2.583 =l {Ri%@10:30 B3 (RAERSE)
11:00 273 150. 0 2.583 E BRige11:00 Bz (GRAERESE)
11:30 273 150. 0 2.583 E| {Rige11:30 Bzh (RE{EREE)
12:00 273 150.0 2.583 =l RRiB012:00 Bz (REAKEE)
12:30 273 150. 0 2.583 E BRige12:30 Bz (GRAERESE)
13:00 273 150.0 2.583 5| {Ri%e13:00 B3 (RAERSE)
13:30 273 150.0 2.583 = RRiB013:30 B (RFAKESE)
14:00 273 150. 0 2.583 E BRige14:00 Bz (GRAERESE)
14:30 273 150.0 2.583 5| {Ri%e14:30 B3 (GRAERSE)
15:00 273 150.0 2.583 =l RRiB@15:00 B (RFAEESE)
15:30 273 150.0 2.583 = RRiB015:30 Bz (REAKEE)
16:00 273 150. 0 2.583 El BRi&e16:00 Bz (GRAERE)
16:30 273 150. 0 2.583 5| 1RiR@16:30 Bz (KREAEES)
17:00 273 150.0 2.583 S| {Rige17:00 B3 (RAERSE)
17:30 273 150. 0 2.583 E BRige17:30 Bz (GRAERESE)
2it] 6279.0 (23)%) 3450.0 JEWHKEC: 2080.0, PH: 5.6

[E;&REC 7468.0 K5, EiNF{KECAE & M%ER
#[EKECE (1820.0 vs 7468.0) 15
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